log AL luminance difference o
9o hresiold; AL= L e Lg=osedint

X Yy
A 0,39 0,41 LI 0,4s A.
equation




log AL luminance dlfference /.
- threshold AL=L Lyy=6cd/n?

- y
A 0,39 0,41 L10,4s A
equation




log AL luminance dlfference 2
- threshold AL=L '—g-FOCd’ATﬁ

- y
A 0,39 0,41L10,4s A
equation




log AL luminance dlfference —/
- threshold AL=L '-g-600~d/.n)'

2-- y
A 0,39 0,41L10,4s A
4 equation /

o=

UEO61-5A 4



log AL luminance dlfference - 4
- threshold AL=L Lg=6000cs

; y
" A 0,39 0,41 L1 0,4s A /
aniiatinn




